EARAZROREIERT — 2 N—XBISY —F 201851850 (£) 11[@EIIB5H

m-l-k-i-%@%ﬂfﬁiﬁﬁé’ B3= 5% BN
[A&E4£] 1 7 :2,400,000 @ ~ 2 3% :840,000 @ . 337 :480,000 § ~ 4 7% :360,000 @ 5 7 :240,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o . FRE : —8-7- — bR G
1Ry 3 EY TN # 5 ;E_JO—F 1.(3_6).2 8-8-7-4 | 39.2 2 <5+()52) #@2% (1)
L:7L>FFE2T1 BNLVEZ MYT o NIVEL R T7—L4
- BB :36. -4-3- . - 2REB (I
ol11|Va-E5-% H o4 L 1(13/62)3 4-4-3-3 | 39.7 6 (5+063) e
RA—TRA AL B US YaA—Ty—1
i it 6 | AEEX 1:36.4 2-2-1-2 | 40.2| — 1 470 | REBEE (11F)
3PN 5 ITIVT7IL—XR 54.0 (1/2) -1) = 3587
LFFHRFFLT B4R K—F J—HrTr—L
N N o hHEE :37. -9-9- . - BEHE— (1)
41814l E-E—2R=2 it 4 i 1(337)1 9-9-9-5 |39.8 1 (4:3‘3 Fleiis
LAY/ RIA47T B:oza-v HRREt WHEKS
N HTHE R :37. —13-13- . — BE=5 (1)
5 o| F=—T7FL2Z S 4 4 54_0|_ﬁ 1(/3;; 13-13-13-9 | 39.4 10 ;1_::1) ca=t
4o BA-Treut R/ E77—L
N el |5 At :37. -1-1- . — SRAE— (IE
61813 XAT TR 9 ;6.0 1(;?/74)2 1= MR 8 8_533) IINFRBS
LBATATv— B:N—FT13I=X4— 1ERESS
iy 55 it 4 | HEE 1:37.3 7-7-8-8 |40.2| — 14 | 431 | FUERER (J110E)
71712 A RAET ST 54.0 (1/2) (-9) /(E> gy'ﬂw K77 —14
R:BALINT Ry IR B:3Z23%—7L—K B EZ
sy i0 FL 1T IxUT— i 4| et 1:(317).5 10-10-10-11| 40.0 | — | 4 34) ggiz (11ie5)
R:d—IK7Ya—b B:J7UT7>hLTa (A) A3 -KL—ra>aErI7r
N SHER :37. -11-11- . — AEEEZE (1185
9 6 49 )F v 4 4 oo 1(13/72)6 12-11-11-12] 39.9 9 ;1_710) s
RibTrELR B:zd/any SRS
2 A # o6 | MRERIESE 1:37.6 3-3-3-7 |41.2| — 5 471 | fERAE (118&)
10|57 Ev7AE— 56.0 (727) Ly | (B) 75 r4um
R:VZRB—IZR&Z— B hYIYLRA T2 NG
—_ N o4 | EEEA 1:37.7 11-12-11-13| 40.0 | — 3 479 | REREE (1)
1"lzl1| =¥/ Fvrtex 56.0 (3/4) (o) | BILET
LY=o IF—I B2/ eFXY Bllike]
3 SILS #% 4 | AHEE 1:38.0 4-6-5-5 |41.3| — 12 439 | HAEX (11I&)
12 9 A L—ILNIL 54.0 (11/2) 1) POAABAA
e/ BL—=Ib B IHATAILE > £azve ]
= 4 7 | EEARR 1:38.5 4-5-6-10 | 41.7| — 7 511 | ERARIZ (11E)
13|5/8|7 27 FA 6.0 21/2) Cioy | ) 75 v
LY IRT1 TR BRI D—=NI VDAY ¢ ]
= Ail%EE :38. ~14-14~ . — EEEZ (hiE)
1 4|702952F H o7 ] 1(73?:55 14-14-14-14| 40.6 13 (5_166) il
R:YIRG4 ISR B:T7E—LNAHYZR R HE
® 1—F—@EBIERL
12—5+-— 13,5,7,(1,8,9),12,3,14,10,11,6,2,4
2a=5F= 13,5,7,1,8,9,12,3,14,10,6,11,2,4
Ja=5= (5,13),(1,7),9,8,3,12,14,10, (6,11) ,2,4
40—+ — 13,5,1,3,(9,14),7,12,2,8,10,6,11,4
[ N5
B 3 430M 714K 1-3 520M e E 1-3 2,120MH JEE 1-3-5 1,920
B B 3 1509 &= 250M e B 3-1 2,790H EH == 12,300
1 220M 1-5 630M B & 1-3 1,670M
5 1309 B H 3=1 3,330

ABICOVWTRDTEEERROODE. TR LIV,



